AxAft 6x4ft
2lin 28in 21in 28in

End Board (4ft) 6 8 6 8
Side Board (3ft 10in) 6 8

Side Board (6ft) 8
21in Post 4

28in Post 4 6
Top Board (End) 2 2 2 2
Top Board (Side) 2 2 2 2
4x40mm Screws 16 16 16 16
5x60mm Screws 48 64 72 96
5x80mm Screws 4 4 6 6
Liner 1 1 1 1

QUICKCR™P

* THE GARDEN EXPERTS -

Quickcrop Raised Pond

Tools required:
Phillips head screwdriver, or drill and driver bit
Measuring tape, pencil

Staple gun and staples (optional)

Before beginning construction of your pond, ensure you have cleared a flat surface
large enough to accomodate your pond. The ideal base is sand, but a flat surface free
from objects that might pierce your liner will suffice

la. Lay out the side (6ft / 3ft10in) boards [3nr. for 21in, 4nr. for 28in]. Using a
measuring tape mark the centre of the top and bottom board to align the centre post

to (61t only).

1b. Position posts at each side (and the centre for a 6ft pond), taking care to align
boards neatly. Fix with 5x60mm screws using a screwdriver or drill. Repeat so you have
2 sections.

Tip: Avoid placing the screws too near to the edge of boards fo prevent splitting.
2. Fix the end (4ft) boards to the corner posts of the sections completed in step 1 using
5x60mm screws, ensuring the end of the boards sit neatly with the edge of posts.

Proceed to the next step once all four corners are secure.

3. Fold the liner into the raised pond base, similar to folding backing parchment into
a loaf tin. For additional security you can staple in place using a staple gun.

4. Position the tops of the pond down and screw together through the pre-drilled
holes using 4x40mm screws.

5. Fix the top to the base using 5x80mm screws, screwing down through the top, liner
and into the post.

Congratulations your pond is now complete! You can now treat if desired using Restol,
or a similar water based product. Note that all of our timber is pressure treated and

Tanalised.

If you require additional support, please contact support@quickcrop.com






